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Solve for x € [0,2m). x rmsmﬁ both sides
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tan(5x) =0
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72.cos2x = 2cosx —1
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74.sin4x —cos2x =0
sin2(2x

2 sinlxcasZx — cosix = O
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82.cos3x +cosx =0
cossz*x) +cosx =0
coslxcosx —sinZx sink +cosx =)
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X =SinXSX ~ 2 siN"XcosX +cosx = ()
cos®x —3siaxcosx +cosx = O
cosx - 3cosx(I-0s%) +cosx = O
€0s’x —3cos x +3cos X +CaSX = O

3

teos X=2cosx =0
200Sx <2¢oszx- |> = O

2COSX =O cwzx - .'z
CosxX=0
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84.2sinx cosx — 2v/2sinx —+v/3 cosx + V6 =0
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X
76. tanE =1 —cosx

Homework:

6.6 Handout #71-83 odd;

Examples #3,4,7,8 from solving equaons handout
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